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&5 X 4 ia; Tﬁn“ﬁzﬁ\(i)wﬁﬁ%ﬁ jj(giacr:f)é X 4 ‘Fﬁﬁﬁg\%l;g)n;kqi ia; jj(lfl?litr’f)é X 4 ia; J:ﬁn“ﬁ;b\(‘z)wtt?% jj(giacr:f)é X 4 J:ﬁﬁ;b\(‘z)mt?% ia; j:(z;?tn%é
P 100kN/mM%#BZ. 5 - -~ - -|3mEFBZD -~ - - -| 100kN/m%#8 %% - -~ - -|3m%E#BZ B -~ - - -
FhLst 1.00 | 0.00 ~ 4.55 56.80 | =nst | 000 ~ 455 1.90 10.156 st 1.00 | 6.00 ~ b6.00 56.80 | #=nst | 5,00 ~ 6.00| 1.90 10.156
2 100kN/ Mm% 25 ~ -|3mEEBZD -~ -] 100kN/mM%#8 2% -~ -|3m#EFBZ S ~
FhLst 1.00 | 0.00 ~ 4.34 54.19 | =n4 | 000 ~ 434 | 1.98 10.67 st 1.00 | 6.00 ~ b6.00 54.19 | Fnst | 65,00 ~ 6.00| 1.98 10.67
3 100kN/ Mm% 25 ~ -|3mEBZD ~ -] 100kN/mM%#8 2% ~ -|3m#EFBZS ~
FhLst 1.00 | 0.00 ~ 4.34 54.22 | =ns | 000 ~ 454| 1.97 10.67 st 1.00 | 6.00 ~ b6.00 54.22 | #hst | 5,00 ~ 6.00| 1.97 10.67
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ IMEBZD ~
zhst ~ zhLst ~ Zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ IMEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ IMEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ znLst ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ zhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~




